_ Expavnding Three Brackets

Multiply first | Simplify first Multiply by third

Question Simplified Answer

two brackets | two brackets bracket
X X +2 X x2 | +3x | +2

(x + 2)(x + 1) (@F5) x x? | +2x x2+4+3x+2 x x3 | +3x?% | +2x x3+8x%+17x + 10
+1 | +x | +2 45 | +5x2 | +15x | +10
X y +4 X y? +2y | -8

G+HT=2)FEB) | ¥ | ¥* | +4y | Yy +2y-8 ¥ | v | +2y?| -8y | ¥ +5y2-—2y—24
=2 | -2y | -8 B8 | +3y2 | +6y | —24
X b -3 X b? —8b | +15

(b-3)(b—-5)b—-6) | b | b*> | —=3b | b*>—8b+15 b b3 | —8b% | +15b | b3 —14b? —33h—90
-5 —5b | +15 —6 —6b?% | —48b | —90
X 2x +3 X 2x% | =5x | —12

Rx+3)(x—4)(x+2) X 2x% | +3x | 2x*—5x—12 X 2x? | =5x% | —12x | 2x3—x%*—22x—24

—4 —8x | —12 = +4x% | —10x | —24
X 2a -1 X 6a? —a -1
(2a—1)@Ba+1)(@a—-2)| 3a | 6a*> | —3a 6a’—a—1 a 6a®> | —a® | —a 6a® —13a* +a + 2

+1 | 42a | -1 —2 | —12a?| 4+2a | +2




